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J1's EXTPW and VSYS are shorted.

The other jumper pins are the same as in the image.
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Configuring the GUI

Power-Down Sequence
BUCK1 — BUCE1
—— BUCK3
—— LDO32
BUCK?3 D04
LDO3 GPIO
LDO4 GPO1
GPIO — GPO2
~ =— NRSTOUT
GPOl BUCK2
GPO2 — s} ]
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LDO1 \
LDO2 \
—2ms ams 2ms 4ms oms 8ms
time (ms)

Buckl (1.5ms) —»Buck2 (1.5ms) —LDO1 (1.5ms) —LDO?2



measurement result — No Load
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measurement result — Buck1=300mA, Buck2=300mA,
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TECHMOLOGIES
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Configuring the GUI

Power-Up Sequence
— BUCK1
BUCK1 — BUCEK3
— LDO3
BUCEZ LDO4
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measurement result — No Load
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